
 

 

Answer to Question #57638 – Physics – Mechanics – Relativity  
 
Question 
4)a block of mass m is placed on a smooth turntable at a distance of 20cm from the centre. 
a string is tied to the block and its other end passed through a gole in the centre of the table. 
A 2nd block of mass m is suspended from the free end of the string as shown in fig. 
At what angular speed should turntable rotate 
so that the block placed on it should remain at rest on its surface?  

 
Solution 

The first block is affected by centrifugal force of 
𝑚𝑉2

𝑅
= 𝑚𝑅𝜔2, and the second one of 𝑚𝑔. These 

forces are to be equal: 

𝑚𝑅𝜔2 = 𝑚𝑔 ⟹ 𝜔 = √
𝑔

𝑅
= √

9.8

0.2
= √49 = 7 

𝑟𝑎𝑑

𝑠
; 

 

Answer 

𝜔 = 7
𝑟𝑎𝑑

𝑠
; 
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